

$$W_1 + W_2 + W_3 = 0$$

$$y^n = U^n v + n U^{n-1} v' + \frac{n(n-1)}{2!} U^{n-2} v''$$

Substituting the values obtained,

$$= y^{(n+2)} x^2 + n y^{(n+1)} 2x + \frac{n(n-1)}{2!} y^{(n)} 2 + y^{(n+1)} x + n y^{(n)} 1 + y^{(n)} x^2 = 0$$

$$= x^2 y^{(n+2)} + 2x n y^{(n+1)} + n(n-1) y^{(n)} + x y^{(n+1)} + n y^{(n)} + y^{(n)} x^2 = 0$$

$$= x^2 y^{(n+2)} + 2x n y^{(n+1)} + x y^{(n+1)} + n(n-1) y^{(n)} + n y^{(n)} + y^{(n)} x^2 = 0$$

$$= x^2 y^{(n+2)} + (2n+1) x y^{(n+1)} + (n^2 - n + n + 1) y^{(n)} = 0$$

$$= x^2 y^{(n+2)} + (2n+1) x y^{(n+1)} + (n^2 + 1) y^{(n)} = 0$$

$$= x^2 y^{(n+2)} + (2n+1) x y^{(n+1)} + (n^2 + 1) y^{(n)} = 0$$

Math 301 (Assignment 3)

$$y = e^{2x+x}$$

$$y' = 2x+1 (e^{2x+x})$$

$$y'' = e^{2x+x} (2) + (2x+1) (2e^{2x+x})$$

$$y''' = 2y + (2x+1) y'$$

$$y'' = y' (2x+1) + 2y$$

$w_1 = y^0$   
 $u = y^0 \quad v = 1$   
 $u^{(n)} = y^{(n)}$   
 $w_2 = y' (2x+1)$   
 $u = y' \quad v = (2x+1)$   
 $u^{(n)} = y^{(n+1)}$   
 $u^{(n+1)} = y^{(n+2)}$   
 $w_3 = 2y$   
 $u = y \quad v = 2$   
 $u^{(n)} = y^{(n)}$

$$w_1 = w_2 + w_3 [y^{(n)} = u^{(n)} v + n u^{(n-1)} v' + \dots]$$

$$y^{(n+2)} = (2x+1) y^{(n+1)} + 2y^{(n+1)} + 2y^{(n)}$$

$$y^{(n+1)} = (2x+1) y^{(n)} + 2y^{(n)}$$

2.  $y = x^3 e^{2x}$        $v = 2^3$   
 $y = e^{2x}$        $v' = 5x^2$   
 $u^{(n)} = 4^n e^{2x}$        $v'' = 6x$   
 $e^{(n-1)} = 4^{(n-1)} e^{2x}$        $v''' = 6$   
 $e^{(n-2)} = 4^{(n-2)} e^{2x}$        $v^{(4)} = 0$   
 $u^{(n-3)} = 4^{(n-3)} e^{2x}$

$$y^{(n)} = u^{(n)} v + n u^{(n-1)} v' + \frac{n(n-1)}{2!} u^{(n-2)} v'' + \dots$$

$$y^5 = 4^5 e^{4x} x^5 + 5 \cdot 4^4 e^{4x} x^4 \cdot 4 + \dots$$

$$y^5 = 1024 x^5 e^{4x} + 3840 x^4 e^{4x} + 3840 x^3 e^{4x} + 1600 x^2 e^{4x} + 320 x e^{4x} + 16 e^{4x}$$

(i)  $x^2 \frac{dy}{dx} + 2y = 0$

$$x^2 y^{(n)} + 2x y^{(n-1)} + y^{(n)} = 0$$

$w_1 = x^2 y^0$        $v = 2^2$   
 $u = y^0$        $v' = 2x$   
 $u^{(n)} = y^{(n)}$        $v'' = 2$   
 $u^{(n-1)} = y^{(n-1)}$        $v^{(3)} = 0$

$w_2 = x y^0$        $v = x$   
 $u^{(n)} = y^{(n+1)}$        $v' = 1$   
 $u^{(n-1)} = y^{(n)}$        $v^{(2)} = 0$

$w_3 = y$        $v = 1$   
 $u = y$   
 $u^{(n)} = y^{(n)}$

$$w_1 + w_2 + w_3 [y^{(n)} = u^{(n)} v + n u^{(n-1)} v' + \dots]$$

$$y^{(n+2)} = 2x y^{(n+1)} + y^{(n+1)} + 2y^{(n)}$$